t90hch1@hopper:~/csci480/Assign5$ Assign5 2 2 2 2

Simulation of Producer and Consumers

The semaphores and mutex have been initialized.

Producer 0 inserted one item.  Total is now  1.  Buffer now contains:  P0W0

Consumer 0 removed one item.   Total is now  0.  Buffer is now empty.

Producer 1 inserted one item.  Total is now  1.  Buffer now contains:  P1W0

Consumer 1 removed one item.   Total is now  0.  Buffer is now empty.

Producer 0 inserted one item.  Total is now  1.  Buffer now contains:  P0W1

Consumer 0 removed one item.   Total is now  0.  Buffer is now empty.

Producer 1 inserted one item.  Total is now  1.  Buffer now contains:  P1W1

Consumer 1 removed one item.   Total is now  0.  Buffer is now empty.

All the producer and consumer threads have been closed.

The semaphores and mutex have been deleted.

t90hch1@hopper:~/csci480/Assign5$ Assign5 6 2 2 6

Simulation of Producer and Consumers

The semaphores and mutex have been initialized.

Producer 0 inserted one item.  Total is now  1.  Buffer now contains:  P0W0

Producer 1 inserted one item.  Total is now  2.  Buffer now contains:  P0W0 P1W0

Producer 2 inserted one item.  Total is now  3.  Buffer now contains:  P0W0 P1W0 P2W0

Producer 3 inserted one item.  Total is now  4.  Buffer now contains:  P0W0 P1W0 P2W0 P3W0

Producer 4 inserted one item.  Total is now  5.  Buffer now contains:  P0W0 P1W0 P2W0 P3W0 P4W0

Producer 5 inserted one item.  Total is now  6.  Buffer now contains:  P0W0 P1W0 P2W0 P3W0 P4W0 P5W0

Consumer 1 removed one item.   Total is now  5.  Buffer now contains:  P1W0 P2W0 P3W0 P4W0 P5W0

Consumer 0 removed one item.   Total is now  4.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0

Producer 0 inserted one item.  Total is now  5.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0 P0W1

Producer 2 inserted one item.  Total is now  6.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0 P0W1 P2W1

Producer 1 inserted one item.  Total is now  7.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0 P0W1 P2W1 P1W1

Producer 3 inserted one item.  Total is now  8.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0 P0W1 P2W1 P1W1 P3W1

Producer 4 inserted one item.  Total is now  9.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0 P0W1 P2W1 P1W1 P3W1 P4W1

Producer 5 inserted one item.  Total is now 10.  Buffer now contains:  P2W0 P3W0 P4W0 P5W0 P0W1 P2W1 P1W1 P3W1 P4W1 P5W1

Consumer 1 removed one item.   Total is now  9.  Buffer now contains:  P3W0 P4W0 P5W0 P0W1 P2W1 P1W1 P3W1 P4W1 P5W1

Consumer 0 removed one item.   Total is now  8.  Buffer now contains:  P4W0 P5W0 P0W1 P2W1 P1W1 P3W1 P4W1 P5W1

Consumer 1 removed one item.   Total is now  7.  Buffer now contains:  P5W0 P0W1 P2W1 P1W1 P3W1 P4W1 P5W1

Consumer 0 removed one item.   Total is now  6.  Buffer now contains:  P0W1 P2W1 P1W1 P3W1 P4W1 P5W1

Consumer 1 removed one item.   Total is now  5.  Buffer now contains:  P2W1 P1W1 P3W1 P4W1 P5W1

Consumer 0 removed one item.   Total is now  4.  Buffer now contains:  P1W1 P3W1 P4W1 P5W1

Consumer 1 removed one item.   Total is now  3.  Buffer now contains:  P3W1 P4W1 P5W1

Consumer 0 removed one item.   Total is now  2.  Buffer now contains:  P4W1 P5W1

Consumer 1 removed one item.   Total is now  1.  Buffer now contains:  P5W1

Consumer 0 removed one item.   Total is now  0.  Buffer is now empty.

All the producer and consumer threads have been closed.

t90hch1@hopper:~/csci480/Assign5$ Assign5 7 5 5 7

Simulation of Producer and Consumers

The semaphores and mutex have been initialized.

Producer 0 inserted one item.  Total is now  1.  Buffer now contains:  P0W0

Producer 4 inserted one item.  Total is now  2.  Buffer now contains:  P0W0 P4W0

Producer 2 inserted one item.  Total is now  3.  Buffer now contains:  P0W0 P4W0 P2W0

Producer 3 inserted one item.  Total is now  4.  Buffer now contains:  P0W0 P4W0 P2W0 P3W0

Producer 1 inserted one item.  Total is now  5.  Buffer now contains:  P0W0 P4W0 P2W0 P3W0 P1W0

Consumer 4 removed one item.   Total is now  4.  Buffer now contains:  P4W0 P2W0 P3W0 P1W0

Producer 6 inserted one item.  Total is now  5.  Buffer now contains:  P4W0 P2W0 P3W0 P1W0 P6W0

Consumer 0 removed one item.   Total is now  4.  Buffer now contains:  P2W0 P3W0 P1W0 P6W0

Consumer 1 removed one item.   Total is now  3.  Buffer now contains:  P3W0 P1W0 P6W0

Consumer 2 removed one item.   Total is now  2.  Buffer now contains:  P1W0 P6W0

Consumer 3 removed one item.   Total is now  1.  Buffer now contains:  P6W0

Producer 5 inserted one item.  Total is now  2.  Buffer now contains:  P6W0 P5W0

Producer 0 inserted one item.  Total is now  3.  Buffer now contains:  P6W0 P5W0 P0W1

Producer 4 inserted one item.  Total is now  4.  Buffer now contains:  P6W0 P5W0 P0W1 P4W1

Producer 2 inserted one item.  Total is now  5.  Buffer now contains:  P6W0 P5W0 P0W1 P4W1 P2W1

Producer 3 inserted one item.  Total is now  6.  Buffer now contains:  P6W0 P5W0 P0W1 P4W1 P2W1 P3W1

Producer 1 inserted one item.  Total is now  7.  Buffer now contains:  P6W0 P5W0 P0W1 P4W1 P2W1 P3W1 P1W1

Consumer 4 removed one item.   Total is now  6.  Buffer now contains:  P5W0 P0W1 P4W1 P2W1 P3W1 P1W1

Producer 6 inserted one item.  Total is now  7.  Buffer now contains:  P5W0 P0W1 P4W1 P2W1 P3W1 P1W1 P6W1

Consumer 0 removed one item.   Total is now  6.  Buffer now contains:  P0W1 P4W1 P2W1 P3W1 P1W1 P6W1

Consumer 1 removed one item.   Total is now  5.  Buffer now contains:  P4W1 P2W1 P3W1 P1W1 P6W1

Consumer 2 removed one item.   Total is now  4.  Buffer now contains:  P2W1 P3W1 P1W1 P6W1

Consumer 3 removed one item.   Total is now  3.  Buffer now contains:  P3W1 P1W1 P6W1

Producer 5 inserted one item.  Total is now  4.  Buffer now contains:  P3W1 P1W1 P6W1 P5W1

Producer 0 inserted one item.  Total is now  5.  Buffer now contains:  P3W1 P1W1 P6W1 P5W1 P0W2

Producer 4 inserted one item.  Total is now  6.  Buffer now contains:  P3W1 P1W1 P6W1 P5W1 P0W2 P4W2

Producer 2 inserted one item.  Total is now  7.  Buffer now contains:  P3W1 P1W1 P6W1 P5W1 P0W2 P4W2 P2W2

Producer 3 inserted one item.  Total is now  8.  Buffer now contains:  P3W1 P1W1 P6W1 P5W1 P0W2 P4W2 P2W2 P3W2

Producer 1 inserted one item.  Total is now  9.  Buffer now contains:  P3W1 P1W1 P6W1 P5W1 P0W2 P4W2 P2W2 P3W2 P1W2

Consumer 4 removed one item.   Total is now  8.  Buffer now contains:  P1W1 P6W1 P5W1 P0W2 P4W2 P2W2 P3W2 P1W2

Producer 6 inserted one item.  Total is now  9.  Buffer now contains:  P1W1 P6W1 P5W1 P0W2 P4W2 P2W2 P3W2 P1W2 P6W2

Consumer 0 removed one item.   Total is now  8.  Buffer now contains:  P6W1 P5W1 P0W2 P4W2 P2W2 P3W2 P1W2 P6W2

Consumer 1 removed one item.   Total is now  7.  Buffer now contains:  P5W1 P0W2 P4W2 P2W2 P3W2 P1W2 P6W2

Consumer 2 removed one item.   Total is now  6.  Buffer now contains:  P0W2 P4W2 P2W2 P3W2 P1W2 P6W2

Consumer 3 removed one item.   Total is now  5.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2

Producer 5 inserted one item.  Total is now  6.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2 P5W2

Producer 0 inserted one item.  Total is now  7.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2 P5W2 P0W3

Producer 4 inserted one item.  Total is now  8.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2 P5W2 P0W3 P4W3

Producer 2 inserted one item.  Total is now  9.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2 P5W2 P0W3 P4W3 P2W3

Producer 3 inserted one item.  Total is now 10.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2 P5W2 P0W3 P4W3 P2W3 P3W3

Producer 1 inserted one item.  Total is now 11.  Buffer now contains:  P4W2 P2W2 P3W2 P1W2 P6W2 P5W2 P0W3 P4W3 P2W3 P3W3 P1W3

Consumer 4 removed one item.   Total is now 10.  Buffer now contains:  P2W2 P3W2 P1W2 P6W2 P5W2 P0W3 P4W3 P2W3 P3W3 P1W3

Producer 6 inserted one item.  Total is now 11.  Buffer now contains:  P2W2 P3W2 P1W2 P6W2 P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3

Consumer 0 removed one item.   Total is now 10.  Buffer now contains:  P3W2 P1W2 P6W2 P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3

Consumer 1 removed one item.   Total is now  9.  Buffer now contains:  P1W2 P6W2 P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3

Consumer 2 removed one item.   Total is now  8.  Buffer now contains:  P6W2 P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3

Consumer 3 removed one item.   Total is now  7.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3

Producer 5 inserted one item.  Total is now  8.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3

Producer 0 inserted one item.  Total is now  9.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4

Producer 4 inserted one item.  Total is now 10.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4

Producer 2 inserted one item.  Total is now 11.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4

Producer 3 inserted one item.  Total is now 12.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4

Producer 1 inserted one item.  Total is now 13.  Buffer now contains:  P5W2 P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4

Consumer 4 removed one item.   Total is now 12.  Buffer now contains:  P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4

Producer 6 inserted one item.  Total is now 13.  Buffer now contains:  P0W3 P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4

Consumer 0 removed one item.   Total is now 12.  Buffer now contains:  P4W3 P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4

Consumer 1 removed one item.   Total is now 11.  Buffer now contains:  P2W3 P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4

Consumer 2 removed one item.   Total is now 10.  Buffer now contains:  P3W3 P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4

Consumer 3 removed one item.   Total is now  9.  Buffer now contains:  P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4

Producer 5 inserted one item.  Total is now 10.  Buffer now contains:  P1W3 P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4 P5W4

Consumer 4 removed one item.   Total is now  9.  Buffer now contains:  P6W3 P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4 P5W4

Consumer 0 removed one item.   Total is now  8.  Buffer now contains:  P5W3 P0W4 P4W4 P2W4 P3W4 P1W4 P6W4 P5W4

Consumer 1 removed one item.   Total is now  7.  Buffer now contains:  P0W4 P4W4 P2W4 P3W4 P1W4 P6W4 P5W4

Consumer 2 removed one item.   Total is now  6.  Buffer now contains:  P4W4 P2W4 P3W4 P1W4 P6W4 P5W4

Consumer 3 removed one item.   Total is now  5.  Buffer now contains:  P2W4 P3W4 P1W4 P6W4 P5W4

Consumer 4 removed one item.   Total is now  4.  Buffer now contains:  P3W4 P1W4 P6W4 P5W4

Consumer 0 removed one item.   Total is now  3.  Buffer now contains:  P1W4 P6W4 P5W4

Consumer 1 removed one item.   Total is now  2.  Buffer now contains:  P6W4 P5W4

Consumer 2 removed one item.   Total is now  1.  Buffer now contains:  P5W4

Consumer 3 removed one item.   Total is now  0.  Buffer is now empty.

All the producer and consumer threads have been closed.

The semaphores and mutex have been deleted.

